P’\\ Wowm down Gur . —5 DAt wver A/

) Fﬁ«fab = F(f,0,2)
!’_f

= (-

(0o, 5¢) - pP+ 2pL (elo=

Lut’éof ?ut rewos
[ (rgezmame T

s o= _g (fs heY )= S (000
) ,',,w/,fﬁe
PQM /\f((,ﬂJe 5’”3/ O) y/L;é-},f_a'-P
gg: (*éﬂnﬁ‘, t0i8,0) é\ ¢ '&‘;“B = P (X ‘1').'— ((’co §,0¢ m9})
. = f .
= 8 2 5 A A = L X ;
) %(F((ﬁ))rf&s()' 6'9:% b ~k 7
- s ‘ P
> |2 %)- Ut 4D (6h))-
N A T2 &
le7 et J<pit e )
— | o s .
N A RO S T

g L Y AL TRl
2
7



EZ_\ Sﬁa (A SuJ}.JE{.Pa, 2= L/_XZ'711 230

| A 1=07-— a’rmw{.(r:;)
X=10 s [)wcé.m 72
Y= 0 —) pres e K2

=
=) Pmaéo&ub/t/
r\k !F\ j\%
2C —/g f%ajm ;/&@ ¥ i \Ej V4
: ;o \ foangi.'
h) Det. ¢4 -
il : =0 O
kb n ﬁwdﬂ é w47 ﬁﬁa 7oA #90 P
\}E’ = ,;_4. (SXU—(JPI = O ¢ T = g/w ﬁy/t,,of %"/’Mfél"""'(

U-('Eﬂ'}/ﬁ’ ) EMJ/ELZJ
0 _ | -
4’ P(M.ﬂwcl“jar r(f{g) - ((’[,mﬁ,meB'J L/-fz) B €0,

ECo 2]
_) '
9= (w38 wwb | -2f) I
f Lr - (Ufmo, 25200 ()
B ol il i B
e _Danb wel, 0 2 2 r—"—.‘:f
;%_:((ﬂwff ) y 7 - \/W st qetawrt s (= Pty

5 A Iy dyde < /1 ype (P
-_;—)(/\/ 0’7 CCJ cufc o) l(ﬁ e Ja n= ﬂrdf)

b
u

/ : 2+ 1}/i_/_ ’f f,/z
- &&@' (aZ(’d Fo’{f’ﬂ’@?d/ Pm.(g(d qr’) 5) firy

0
- 2FT [%‘(/Hl//?) 4, 5,/]0 - I l%’-z{f’z-} =3
h

we - W_EQ_-__['H% = JJ
—y % (4-p%)« Fazup popdt <62t
) 26 T[; (,Hifz,{)pgg 't /# f }fm_};/; 0 g ll’ {’)(” Ufﬂ{fld() T(;

W
y T (az
T



B3] o) alata d A di o pade Hl ovo x7eq7- 2%, 220
?W uta e & la (S/ém’ X’—f72f 22= s son £ o >0

b) &if&u[ﬂ‘« f//IIOE’ /ﬂ /Mu/( 0{! o Mf?« (512’ Aetro ol Lo wo

U8 s pibowes - Xy U & Ky (22424 27) 2P
Xz g2 f?;)z__ p?
240 Dot wo ot weos L -
e xugt=2t () x* g21(2-0)"= £°

=) 224;,1492&24/21-—//{ =) /2/‘/2’@5 = L__._aﬁ‘?;

¢) d‘\"f, G /Jm/)‘r at 2=V Y éyawo’a hacia O / A tone M/a’a’r/uﬁ’o 04

[& (S R |
z Cpvas’  T= (b, pnvOi€) (=2
tow ©€0 £ 20
L oefer L
X =) arC - (wJ 9( STuby 1) ._Er'¢ (-— (§rw|9', ¢ ¢olb, O)
o 44k ’ o )
- g
| =) 9« 20 - \aﬂf’ g (| - f(wa{ r(a‘n8f+ plow?t s o)k
20 foiap (36 0 |
of (e (LR _ (- peo, fnmP £)

= ke | Z < 2 || dpde - o« C2hnn 4 (2= €02 gt

7 1
=) A - E(ffd/a’ﬁ - iz pt - RS
A
0 ¢

b) (oo () % /7’””1”‘“ pama 2L, o 0{{/(’6/5?-« In wwitad de Lo o7/
%wda o fro Qi) pove

=) A= Lhef - /! fiu® = 250 °



" 2 o
@Jwﬂdwwwfﬂwﬂﬂ 7= (2, r2, ry)

{ M L2 §520, 4 20,0 €T0LT , wreytca?, sabn o}

(ol cule of /1.{/0 g towyo 7 a tove s (1 Cundoocdo le per wal ateuer )

( ol Y 5 .
ol L/mﬁ?wm«-.rﬂf ix 20, Y70, 2/€[0,6_7,x"'¢74 La®, esLro)
2 youwdadle tire, ole radie < 4

—_— /f Y y
=5 61 1 3 ulendee st pfpura 4 yrado basel a

SfPM oy 3] por caras o (] 2L, U, UB,Q;URQ,UB.Q_‘—
Luego - X a4
50 F.nof - 2'”;:0& (,"—[FdS.

20 e 20,
Cal eule wes Los .Ptvo;
Fondd  f=-1= (1,00 oh-dyde (x & hjo!)
2 :HJ,QL 76[0a) 2€ [0,b]

(Y2, %2 ,xy) * (-1,0,0) dyde

REE

o° c§
g

2dyde [~atb2_ /|
~Ydyor aﬁL | {,/
L (B o) dhe
. K j( {J 71,)(1,)(7)(0,—1,0) dxdf'
- bal 5 0
\[_L: SS LX%CJ‘XO’-}.: : O_JJ_ (%.afr'fwf'o por Simefria).
q e=a b
00 \]/ (i[é (,agqnﬁ otost,0)
1(3"' Hfﬁa’ﬂ m uh caso: Fi- (“wéﬁl akiab; =) ) {Zf‘"‘- (0,0,1)
Y ot
) O 27 - (ats 8, @umB,0) 2 // Z/]:V'ZZ—:Q = # = (4c018,anm0, Oz
R RT! i . r
¥, b ':f'["[“‘r"’)
dh=adide = - “(amms,am@,azﬁ'—wmﬁ/-(“’4“"9/ kP g 1o
Y, b 2 ¢ [0,5]

"J

|-u

§ @%}7\“95013 ¢ Q e 91“90033 )d%dﬁ - Sg(fg ﬁ'yll?dgdi = a—;ézfﬁ'ﬂlgdo
0

0 0
aozbz' *(fft"‘c‘r (E’).‘mt.ﬁ'"ﬂ}

ho- Dl P - los2 & 1b1 s 2 Ze‘)
P S ;’ : ( L ‘J -E:— (LU.JO . (TOT: H?d{i Z{,: O ‘

OL——"‘_'!




